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PRINCE OLYMPIAD EXAMINATION
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Instructions regarding filling of OMR Sheet are
mentioned on the OMR Sheet only.

The duration of the exam is 12 Hours.

The Question Booklet consists of 100 Questions,
each with 4 Marks. The maximum Marks are
400.

Subject-wise division of 100 Questions are as
follows: Physics-30, Chemistry-30, Maths-30
& MAT-10.

Candidates will be awarded 4 Marks for the
indicated correct response to each question.

One mark will be deducted for the incorrect
response to each question.

Space for rough work is also provided in the
Question Booklet.
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— " PHYSICS)————————

01.

02.

If a unit vector is represented by 0.5i + 0,8}+ Cl€ ,
then the value of Cis :

(D1
(3) Jo.11

A vector of magnitude 14 unit and which is parallel to

the vector j + 2} — 31:7 )

(i+2]-3k)
14

(3) V14(i +2j -3k)

(D

: 01. TF THIF WA 0.5 +0.8)+ck. ¥ ZH 2 @ CHl
A B
@ o3 ()1 2 o8
@ Jo.o1 3) Jo.11 @ Jo.01
02. T S ol GRAT 14T ¥ 791 7 WA [ 42 -3k

(i +2]+3k)
T

4) 14(i +2j -3k)

(D

(i+2]-3k)

|

|

|

|

|

|

| F AR 2, T8 2
|

|

|

I (3) V14(i +2j -3k)
|

(i +2]+3k)
14 V14

4) 14(i +2j -3k)
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03.

04.

05.

06.

07.

08.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

The angluar speed of a fly wheel making 120 | 03.
revolution. min is : I
(1) w rad/s (2) 4x rad/sec |
(3) 2w rad/s (4) 41 rad/sec |
A body is thrown vertically upward with velocity u, the | 04.
greatest height h to which it will rise is, |
(1) vwg (2) v¥2g |
(3) vig D u/2g I
The dimensions of Planck's constant equal to that of - | 05.
(2) Momentum |
(4) Power |

Two racing cars of masses m, and m, are moving in | 06.

(1) Energy

(3) angular momentum

circles of radii r; and r, respectively. Their speeds are |
such that each makes a complete circle in the same |
time t. The ratio of the angular speeds of the first to the l
second car is - I
(1), (2) M| : M, |
3)1:1 @ MM, 11, |

A car of mass 1000 kg negotiates a banked curve of | 07.
radius 90 m on a frictionless road. If the banking angle |

is 45°, the speed of the car is - :

(1) 5m/s (2) 10 m/s |

(3) 30 m/s (4) 14 m/s I

A car of mass m is moving on a level circular track of | 0s.
radius R. If p_represents the static friction between

the road and tyres of the car, the maximum speed of |

the car in circular motion is given by -

Rg
(1) yu,mRg

|

|

o |

(3) JmRg/p, 4) Ju.Rg l

120 revolutions / min & Tifqdm Th ufgd k1 Sivig =
2l

(1) w rad/s (2) 4x rad/sec

(3) 2= rad/s (4) 41 rad/sec

TH g SR Ft AR u, T § el T A AaFHaH
T B -

(1) vg (2) v/2g

(3) u¥g ) u/2g

i e w5t famn f o o forgant fomn = @ 22
(1) =i (2) gam

(3) Il Ham (4) oIt

mlammzmﬁaﬁﬁ%ﬁﬁwm:rlamrzﬁm
# Fal o faeiier €1 SRl W 39 YR @ R v
T A ¢ o ot g9 e @1 weelt 9o gHd FR HY
HU =TT I ST § -

(1), (2) M| : M,

B3 1:1 4 MM, rr,

1000 kg SHA A &R TH SHIRH FEH W90 m
e ot SfeRd = 1 IR X W ] ATE S o450
2, 99 ®R H A & -

(1) 5m/s (2) 10 m/s

(3) 30 m/s (4) 14 m/s

m FFHA A wR R 571 & FaeeR A1 W 11 @
21 9 e o ufed & fiw Wifew ww o ¥, @@
AR T H HR HT Afuhad = 3

Rg
@y,

4) JuRg

(1) yu,mRg
(3) ymRg/
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09.

10.

11.

12.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

Which of the following dimensions will be the same as I 09. =1 ¥ 9 fwuat fom o9 &t foo =& 99 erft -

that of time ?

L C
W 7 @ T

I
I
I
I
I
3) LC I

R
) T

A boy can throws a stone upto a max. height of 10m. | 10.

The max horizontal distance that the boy can throws |
the same stone upto will be :- I

(1) 204/2m ) 10m
(3) 102 m (4) 20m

A large number of bullets are fired in all directions with
same speed V. What is the maximum area on the ground
on which these bullets will spread?

V2 V4
1 T— 2) T—
M T @ s

2V i
@ T

A ballon with mass m descending down with an accel-
eration a (where a<g). How much mass should be re-
moved from it so that it starts moving up with an accel-

I

I

I

I

I

I

I

I

I

I

I

2 I

n —_

(4) gz :
I

I

I

I

I

I

I

I

I

I

I

11.

12.

L C
W 7 @ T

R
() LC @ T
T TSH! Tk TR H1 had 10m S8 o FF
Tehdl T| 98 TS Afehad Gfaw gl 9 S TR
T Ghdl €, T B
1) 2()\/§m (2) 10m
(3) 102 m 4) 20 m
et femet # gum =t V § WSt Ge H e gl
STt €1 S IR SAfeRae dether e ¢ fe W 3 e
Hertt ?

2 4
v

N
T— ) T—
() g ) g
3 nzi 4 nzi
(3) pe “) pE

SAE m el AN @10 a (a < g) ¥ i SW @I 2
sgd g Tohd Xe9HM B2@1 ST Al 98 ¢ 0T & 91

FW T IR T W ?

eration a.
ma ma ma ma
M Sra ® 5, M Sra ® 5,
2ma 2ma 2ma 2ma
® ora @ % 4 ® ora @ % 4
Space for Rough Work
PCP, Sikar Class : X1/5-8 I IIT-JEE | NEET | OLYMPIADS 3
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2 ~ | 2N
13. A particle moves fromapoint(—2i +5j)to (4) +3k) | 13. S9 (4i+3j) N &1 9 < STl € W T F
A A | . i ~ ~ ~
when a force of (41 + 3;) N is aplied. | EE (_21 +5]) Kl (4y + 3k) TR =T STt T 5 g
How much work has been done by the force. : e e foman TN € 2
2] 2) 8] 2] 2) 8]
23; 11J 24; 5] | 23; 11J 24; 5]
I .
14. The surface tension of a liquid is 70 dyne/cm. In MKS | 14. T %d &1 I3 T 70 S/ 31 MKS Tafd & o
system it's value is :- | e e
(1) 70N /M (2) 7x10°N /M : (1) 70N /M (2) 7x10°N /M
(G) 7x10°N/M (4) 7x10°N /M | () 7x10°N /M (4) 7x10°N /M
15. If a particle moves in a circle describing equal angles | 15. 3 ®1E %01 99M ¥09 ° GAM 01 H1 FE90 FHH
in equal times, its velocity vector :- | el gd | T 2, @ ST AT ey 2
(1) Remains constant I (1) feer g
(2) Changes in magnitude | (2) afEm § aReA
(3) Changes in direction | (3) fem o wftad
(4) Changes both in magnitude and direction | (4) afEmn 3R feam # afteda
16. A partly hanging uniform Chain of length 'L' is resting | 16. T L' T SARTF € H Al g5 ThHUHM So(R TRl
on a rough horizontal table '/’ is the maximum possible I Tl afqw o9 W femt €€ 2, 7 T sifushan T
length that can hung in equilibrium. The coefficient of | e @ G T TeHIAT S Hehal HIEEIE T
friction between the Chain and table is . | & = wor T 2
! L | ! L
M 7 @ 7 : M 7 @ 7
l IL I l IL
A 7 @ 7 | A 7 @ 7
17. Ina projectile motion, velocity at maximum height is :- I 17. T w& T o tfushan S W o eal § o
ucosf | ucosf
1 — (2) ucosO | 1 — (2) ucosO
usin | usin , .
3) 5 (4) None of these I 3) 5 (4) T8 § = 7
I
Space for Rough Work
PCP, Siar  Coss:xiss | IIT-JEE | NEET | OLYMPIADS s
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PRINCE OLYMPIAD EXAMINATION
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18. Consider a car moving on a stragiht road with a speed l 18. T Hreht 9 W 10ms ! HI o1 H Femdl gg IR T
of 100ms™'. The distance at which the car can be | foar =ifs) ﬁo—cﬁragmw 5% B Wl © [uk = 0.5].
stopped is [uk = 0.5] . |
(1) 100 m (2) 400 m | (1) 100 m (2) 400 m
(3) 800m (4) 1000 m | (3) 800m (4) 1000 m

19. Two masses of 4 kg and 5 kg are connected by a string : 19. 4kg 3RS kg & T AHH T w607 Wed et 9 o
passing through a frictionless table as shown in the | el S ¥ S8 BT 3R Tk =T Ed AN W W@ W 2,
figure. The acceleration of 5 kg mass is :- | St o foe o fx@rn e ?15 kg SoAHH T RO

BEEE
I
I
kg | kg
‘ | ‘
Skg I Skg
I
I
(1) 49ms™ (2) 544ms™ I (1) 49ms™ (2) 5.44ms™
() 19.5ms™* (4) 2.72ms | () 19.5ms™* (4) 2.72ms™?

20. If momentum is increased by 20% then K. E. increased | 20. 4f% @am H 20% @ gfg ®1 S €, df Tiast o o g2
by :- | gfg -

(1) 44% ) 55% | (1) 44% ) 55%
(3) 66% 4 77% : (3) 66% @ 77%

21. A wheel is at rest. Its angular velocity increases | 21. e dfedn a1 SHenT v A9 THEHEE 9
uniformly and becomes §0rad /s after 55 . The total | 9 Fed 2 X 58 F TR 80rad /s B WA E el Hifo
angular displacement is :- | foremma & o
(1) 800 rad (2) 400 rad | (1) 800 rad (2) 400 rad
(3) 200 rad (4) 100 rad I (3) 200 rad (4) 100 rad

22. The decrease in the potential energy of a ball of mass | 22. 20kg X=HM %! T g 1 feerfas ol o o1 el el
20kg which falls from a height of 50cm is :- | 21 & 4% 50cm 1 S=E ¥ ARt 3
(1) 9681 (2) 9817 | (1) 9681 (2) 98]

(3) 19807 (4) None of these I (3) 19807 (4) T8 ¥ = &l
Space for Rough Work
PCP, Siar  Coss:xiss | IIT-JEE | NEET | OLYMPIADS 5
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RN | NN
23. Aforceof(2i+3j+4k)N acts on a body for 4 second | 23. (2i+3j+4k)N T TH TG 4 GFUE F AU TE Ay

24.

25.

produces a displacement of (3f+4j'+512)m . The
power used is -

(1)9.5wW (2) 7.5W

(3) 6.5W 4) 45W

In a vernier calliper, one main scale division is x ¢cm |

and n divisions of the vernier scale coincide with (n—1) |
divisions of the main scale. The least count (in cm) of
the calliper is :-

n-—1
(b (TJX

X
3) -

Abody of weight 2kg is suspended as shown in figure.

nx
2 1

X
) 1

The tension T, in the horizontal string (in kgwt) is :-

I
I
I
I
I
I
I
I
I
I
I
I
I
= I
I
I
I
I
I
I
I
I
I
I
I
I

24.

25.

TR FE F T (3z’+4j'+51€)mam%|wq=re-cq———raﬂm
21 WA T S Al vt 2

(1) 9.5W (2) 7.5W

(3) 6.5W (4) 4.5W

T AR Selivd & qed UuH 1 T U xom @
qe SfER T % o faEm, ged T % (0-1) T @
ferar 21 hellod w1 feudadish (cm ¥ ) B

n-—1
(b (TJX
3 = X
(3) p 4 1

2kg 1 T eiish ToRITER T2 g1 21 afast =i o
TE T, (kg-wt H) 21

nx
2 1

00 00
r, R
E )
2 kg - wt 2 kg - wt
=1 V3 2 S
07 @ 07 @
3) 243 (4)2 3) 243 (4)2
Space for Rough Work
PCP, sikar Class : X1/5-8 I IIT-JEE | NEET | OLYMPIADS 6
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26.

27.

28.

29.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

A block of mass M is held against a rough vertical wall l 26. SFEHE M TH 2o Hl 3Tel § AR THh TGS

by pressing it with a finger. If the coefficient of friction |
between the block and the wall is ¢ and acceleration |
due to gravity is g, the minimum force required to be |
applied by the finger to hold the block against wall is :-

Mg

(1) m (2) uMg
Mg

(€) R u+l (4) (u+1)Mg

The banking angle for a curved road of radius 490m
for a vehicle moving at 35m/s is -

(1) tan'(0.25) (2) tan™' (0.35)

(3) tan' (1) (4) tan™' (0.65)

A uniform force of (31 + ]) newton acts on a particle
of mass 2kg. Hence the particle of mass 2kg is displaced

from (2? + /2) meter to position (45 + 3}'—/2) meter.

The work done by the force on the particle is :-

(1) 15J (2)9J

(3)6J (4)13J

A particle of mass m is driven by a machine that delivers
a constant power £ watts. If the particle starts from
rest the force on the particle at time 7 is -

27.

28.

29.

AR AR ® WA @ S 2 At st 3R R
o st ST R O g € 3R TERtTT % SH
o' 2, @ AR % T <ii® il uhed ® fay Seft
FN SN S Sl <[Aad = ]

Mg

(1) m (2) uMg
Mg

(€) R u+l (4) (u+1)Mg

490m a1 =1et TR EF W 35m/s T T § =
e AEA & T (sHT Fw) 7

(1) tan'(0.25) (2) tan™' (0.35)

(3) tan' (1) (4) tan™' (0.65)

ferelt =ho1 =R we 2kg B 59 0 W (37 + ) =g
THETH 9 O S| S 39 SHH! ey (2f+l€)1ﬂ21

G (41 +3]— k) vhe Feafiy 7 foreenfom ¢ 2 21 39
o g TR T w2

(1) 15] (2) 9J

(3) 6J (4) 13]

m A & TH FU HI TH T gR AfaEE foma
(TrerEn) S @ 2?1 A 39w et feen v k watts
2 3N g2 o T TEeen W S U I 2 dl t
I W, FH W T 2~

(1) Jmkt " ) 2mke ™ (1) Jmket 2 Q) J2mkt >

3) \/_[—1/2 (&) /mTk 2 3) \/_[—1/2 ) /WTIC e
Space for Rough Work

PCP, sikar Class : XI/5-8 I IIT-JEE | NEET | OLYMPIADS 7
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30.

A body initially at rest and sliding along a frictionless | 30.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

track from a height h (as shown in figure) just completes |

a vertical circle of diameter AB = D. The height h is

equal to :-

st < AR S 4 Y TR T 3 e

form eTee @ TR 9ol Fis fuve, =9 AB=D &
SR 9 FI AFH-AF T FI 2| T HAE S BRI

3 3
ey ED (2D ey ED (2D
7 5 7 5
@) 3P O @) 3P O
Space for Rough Work
PCP, sikar Class : XI/5-8 I IIT-JEE | NEET | OLYMPIADS 8
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PRINCE OLYMPIAD EXAMINATION

B 2pcPr B

E@EMMRUE

The total number of value of 'm' for the electrons

|31

n =49 3R % fau 'm'® ®A fHa 9= 2 2

imn=4is :- |
(1) 4 @ 8 w4 @ 8
3) 16 4) 32 : 3) 16 4) 32
32. Which is correct about ionisation enthalpies ? | 32. forgat e dgedt @@l @
(1) Ne > Ne* | (1) Ne> Ne'
(2) Ne* > Ne I (2) Ne* > Ne
(3) Both (1) and (2) I (3) (1)@= (2) T+
(4) None of these | (4) FE &l
33. The number of anti-bonding electrons pairs in O, mol- | 33. O, 377 T gfqeft s gl & Sed 2
ecule is :- |
(1) 2 ) 6 w2 ) 6
() 4 @) 8 CE @) 8
34. One litre of a certain gas weight 1.16g at STP the gas | 34. STP W f&dll i @& Uk oficx &1 9R 1.16 U™ & o
may possibly be :- | HHIfAT 9 81 Al ©
(1) CH, (2) CO I (1) CH, (2) CO
(3) O, (4) NH, (3) O, (4) NH,
35. 4d’5s? configuration belongs to which group :- : 35. 4d5s? faITH BT HE W R © -
(1) 2nd (2) 3rd | (1) 2nd (2) 3rd
(3) 4 (4) 5% I (3) 4% (4) 5%
36. Which of the following is most covalent :- | 36. fr=forRaa # | &9 W9 2P A5HISD & |
(1) AIF (2) AIC1 | (1) AIF (2) AIC1
3) A1B3r3 (4) AlL 3 I 3) A1B3r3 (4) AlL 3
37. Which Molecule do not contain r - bond | 37. FreaforRad ¥ e 3] # @IS 7 - a1 -T8T BIdT —
(1) CO, (2) H,0 | (1) CO, (2)HO
3) SO, (4) NO, I (3) SO, (4) NO,
38. The significant Figures in 0.0038 are - I 38. 0.0038 § e el 3Rl i GEA T -
(1) infinite ) 2 | (1) 3= 22
31 4) 3 | 31 4)3
Space for Rough Work
PCP, Siar  Coss:xiss | IIT-JEE | NEET | OLYMPIADS 9
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PRINCE OLYMPIAD EXAMINATION
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39. Which of the following oxides is most acidic in nature ? I 39. = o 9 S srfawge geitis srelia ? -
(1) MgO (2) BaO | (1) MgO (2) BaO
(3) BeO (4) Ca0 | () BeO (4) Ca0
40. The species having bond angle of 120° is - | 40. T # @ fmed 120° 1 5= siv1 Sufeeq 8-
(1) BCL, (2) PH, | (1) BCL, (2) PH,
(3) NCI, ) CIF, : (3) NCl, ) CIF,
41. Which of the following molecules is non-polar in nature ? | 41. = 9 9 =@ 3] STYET ? -
(1) NO, ) POCI, | (1) NO, ) POCI,
(3) CH,O (4) SbCl, I (3) CH,O (4) SbCl,
42. Correct set of four quantum numbers for the outermost | 42. weifeem (Z=37) & I TE{ o & fau =
electron of rubidium (Z=37) is : I e et w1 9d e ¢
(1) 5.0.0. 12 ) 5.1.0.172 | (1) 5.0.0. 12 ) 5.1.0.172
3) 5.1.1.172 (4) 6.0.0.1/2 | 3) 5.1.1.172 (4) 6.0.0.1/2
43. Which is the incorrect about bond angles ? I 43. WU HOT H I Y 91 e @ 2
(1) NH, > NF, (2) NF, < PF, (1) NH, > NF, (2) NF, < PF,
(3) NH, > PH, (4) NH, > H,0 I () NH,>PH, () NH,> H,0
44. Which of the following has largest bond angle ? | 44. Trefefen 4 9 frgd 9o sigr 54 0 e 2
(1) H,0 @) F.0 | (1) H,0 @) F,0
(3) CLO 4) HS : (3) CLO 4) HS
45.  Which sub-shell is not permissible ? | 45. 9E SUHE W Hud T R
® % © L e ®
p s | p s
46. The energy of second Bohr orbit in the hydrogen atom | 46. TRSNH & 5 TR T &1 3t -3.41 eV 2 He &
is -3.41 eV, The energy of second Bohr orbit of He" ion | feda o wean &t el e -
would be - I
(1) -0.85 eV () -13.64 ¢V | (1) -0.85 eV () -13.64 ¢V
3) -1.70 eV (4) -6.82 ¢V | 3) -1.70 eV (4) -6.82 ¢V
47. Mole fraction of solute in aqueous solution of 30% | 47. NaOH® 30 wfaerd Seia faeraw o faea & #re o=
NaOH. | = -
(1) 0.16 2) 0.05 I (1) 0.16 2) 0.05
(3) 025 (4) 095 | (3) 025 (4) 095
Space for Rough Work
PCP, Siar  Coss:xiss | IIT-JEE | NEET | OLYMPIADS 10
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48. The molarity of 98% H,SO, (d = 1.8 g/mL) by wt. is - I 48.

49.

50.

51.

52.

53.

54.

PRINCE OLYMPIAD EXAMINATION I 9 PCP ||

(1) 6 M 2)18M |
(3) 10M @ 4M |

For reaction A + 2B—C the amount of product formed | 49.

by starting the reaction with 5 mol of A and 8 mol of B: |

6s” belongs to :
(1) d-block, 12% group  (2) f-block, IIT B group
(3) f-block, 14" group  (4) s-block, 2™ group

(1) 5mol (2) 8mol :
(3) 16mol (4) 4mol |
Empirical formula of glucose is : | 50.
(1) CH,,0, (2) C,H,0, I
(3) CH,0 4 CH,0, |
Select isoelectronic set : | 51.
(a) Na’", H,O", NH; |
(b) CO>, NO;. H,CO, I
(c) P7, HCL, C,H; I
(d) F~, Ne, Na* |
(1) a,b,d (2) b,c,d I
(3) a,b, ¢ (4) a,b,c,d |
The maximum number of such electrons in an atom | 52.
which quantum numbern=3, /=2 1is: |
1) 2 Q) 6 |
(3) 10 4) 14 :
Electronegativity scale of pauling is based upon : | 53.
(1) Bond length (2) Bond energy |
(3) Atomic radius (4) Al I
The element having electronic configuration 4f'4, 5d°, I 54,
I
I
I
I
I

HTER 98% H,SO, (=18 g/mL) =l Hiewal et -
()6 M ()18 M

(3)10M 4)4M
STafRA A + 2B—>C & foau, 3carg &t ffHa #en a1
wifee afs fafFmA = 5 Wt 9B & § Tl ¥ URY
Bl -

(1) 5mol (2) 8mol
(3) 16mol (4) 4mol
TS 1 AT T -

(1) CH O, (2) CHLO,
(3) CH,0 4 CH,O0,

AR Teh FH=ad 1 =47 HhiTI-
(a) Na', H,O", NH;

(b) CO; . NO;. H,CO;,

(c) P HCL C,H;

(d) F, Ne, Na"
(1) a,b,d (2) b,c.d
(3) a,b,c (4) a,b,c,d

TF TV § UH STTHHhan ol &1 e &1 gl
ot FamUeq Hean=3, (=2%-

(1) 2 (2) 6

3) 10 @) 14

TiferT w1 forga BT 1 HaskH fRE W oenenia 8-
(1) T = (2) T4 Fel

(3) THTfUeER e (4) |t
A4 5d°, 652 TerRITR ToraTe ol e W1 HaY B-

(1) d-block, 12® group  (2) f-block, ITI B group
(3) f-block, 14" group  (4) s-block, 2™ group

Space for Rough Work

PCP, Sikar Class : X1/S-8 I IIT-JEE | NEET | OLYMPIADS 11
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55.

56.

57.

58.

59.

60.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

Decreasing order of size of ions is :

(1) Br >S2>Cl' >N

(2) N**>S872>ClI">Br

(3) Br >CI' >S?2>N"

(4) N*>Cl'>S?%>Br

Outer clectronic configuration of 'Eu' in ground state
is-

(1) 4F7 682 (2) 4F7 5d' 682

(3) 4f" 65° (4) 4 657

When 6g of ethanoic acid is dissolved in 200g benzene.
then what is the molality of solution?

(1) 0.003 pm (2) 0.06 m

3) 0.5m 4) Im

The bond angle in NF, as compared to NH, is-

(1) Smaller

(2) Greater

(3) Same as NH,

(4) Can not be predicted

From the following pairs of ions which one is not an
isoelectronic species :

(1) Na® Mg2+ () Mn?* Fe?*

(3) Fe*, Mn* 4) O F

What is the correct order of ionisation potential of
following elements ?
(1) Be<B<C<N
3) N<C<Be<B

(2) B<Be<C<N
(4) C<N<Be<B

| 55.

56.

57.

59.

60.

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
| 58.
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

Al & SRR 1 521 A 2-

(1) Br >S?>Cl'>N"

(2) N> >S$2>Cl > Br

(3) Br >Cl' >S?>N"?

(4) N?>ClI'>S?>Br

'Eu' 1 4ol Teeq ¥ 9gd Seiaiiie o 2-

(1) 4F7 6S2 (2) 4F7 5d! 682

(3) 4f 65° (4) 4F 652

TE 6 U TATEH 3T 200g S | st Se a9 faeras
I AT 1 B

(1) 0.003 pm (2) 0.06m
3) 0.5m 4) Im
NF, %1 % %10 NH, 1 ger | -
(1) B

(2) =<

(3) NH,® &AH

(4) =arn & S g

e & Treferfad 3 o 9 ®iF uh gugeRite |
T 2-

(1) Na@ Mg2+ (2) Mn2+’Fe3+

(3) Fe*, Mn** ) 0> F

frfafea aal & smafew fava =1 9t %9 = g

() Be<B<C<N
B)N<C<Be<B

(2)B<Be<C<N
(4)C<N<Be<B

Space for Rough Work

PCP, Sikar

Class : XI/S-8 I

IIT-JEE | NEET | OLYMPIADS 12
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PRINCE OLYMPIAD EXAMINATION

B 2pcPr B

E( MATHS jE

If sin@ + cosecl = 2 then | 61. A sin@d+cosecd =27
(sin@) +(cosec€) : (sin@) +(cosec€)
(1 (2) 2 | (1 (2) 2
(3) 4 (4) None of these | 3) 4 4) TH ¥ R Al
2 o | 2 o
62. The value Of:z% IS - : 62. :Z% I AE © -
M1 ® 3 BENURE ® 3
I
3 3
3) % “ 2 I 3) % “ 2
63. If (1+i)(1+2i)(1+3i)....(1+ni)=a+ib then I 63. AT (1+i)(1+2i)(1+3i)....(1+ni)=a+ib q=
25.10.17......(1+n°) = I 25.10.17......(1+n°) =
(1) a-ib 2) o -b | (1) a-ib 2) o -b
3) & 4B (4) None of these I 3) & 4B @) T ¥ = T
64. The number of arrangements of the word "DELHI" in | 64. "DELHI" ¥1s% & &0 ¥ fehat sFaeemd =it =
which E precedes 1 is :- | Tehdt él e E, [9 Ted 34T§:—
(1) 30 (2) 60 I (1) 30 (2) 60
(3) 120 4) 59 | (3) 120 4) 59
65. The maximum value of n(A w B) will be, if n(A) =4 : Ik n(A) =4 Sﬁ'{n(B) =7d9 n(AuB) =1 HgdH HM
andn(B)=7: | 2
(1) 11 Q) 7 | (1) 11 Q) 7
(3) 28 ) 21 I (3) 28 “4) 21
66. The domain of function f(x) = /3 —x is: I 66. WaHf(x) = J3_x HI W BT~
(1) (-3.3) (2) [-3.3] | (1) (-3.3) (2) [-3.3]
(3) (-, 3] “4) (-o,-3) I (3) (-, 3] “4) (-o,-3)
|
Space for Rough Work
PCP, Siar  Coss:xiss | IIT-JEE | NEET | OLYMPIADS 13



67.

68.

69.

70.

71.

72.

73.

1
o)l

W | =

1 1
o)l

www.princeeduhub.com | priNcE oLympiaD ExaMinaTion | o PcP i
sin2A I sin2A
The value of —cosIA | 6 —cosIA T B
(1) cotA (2) tan A | (1) cotA (2) tan A
(3) tan 2A (&) cos 2A | (3) tan 2A (&) cos 2A
The number of non-zero integral solutions of the equation : 68. GHFWI|l —iff=2"= ‘%]?ﬁ?l'{ W Tl I GEAT B
1-if=2%: |
(2 @1 I (2 @1
3) 0 4) o I 3) 0 ()
The solution of inequality 2 <3x -4 <5 1is: : 69. 3TEMRI2 <3x—4 <5 TA &
3 2,3 2) [2,3
(1 @2.3) 2 [2.3] | (1 @2.3) 2 [2.3]
3 [2.3) 4 2.3] | 3 [2.3) 4 2.3]
"C +"C_,isequalto: | 70. "C_+"C_, U 2=
(1) "y @7, I ", @7,
n+1 nt n+ n+
3 "C, 4 "C, | 3 "C, 4 "C,
I+ | I+
IfZ = | = |then Z* equals |71 IfZ=| | [ Z' TR 2
(1 2) -1 I (1 2) -1
30 4 2 | 30 4 2
If a and 3 are the roots of the equation | 72. I o TAP NI 22-x+1=0F Jd & a9
x2_ x + 1 — O then (X2009 + BZOOQ — | (x2009 + BZOOQ ARG gﬁTﬂ |
(1) -2 @ -1 = @ -1
31 4 2 | 31 4 2
Th f _ X ox+l, I73 el ()—xz_x+la?rwr\q%|
¢ range of f(x) = Zirrl is I . fx i
I
I
I
I
I
I

1 1
2 . 1,
() G.=) ) {737} (3) 3, %) 4) {7 }
I
Space for Rough Work
PCP, sikar Class : XI/5-8 I lIT-JEE | NEET | OLYMPIADS 14
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PRINCE OLYMPIAD EXAMINATION

B 2pcr N

cH+i cH+i o
74. If - =a+ibwherea,b,carereal.thena2+b2=|74. Ife _,=a+ib\_rI%Ta,b,cE|T\’?lﬁT:5%\'lﬂTSIa2+b2
I BT A B |
() 1 @ -1 L wn @ -1
(3) ¢ 4 -C* : (3) ¢ 4 -C*

75. IfA={x:xisamultipleof2}, B= {x:xisamultiple of | 75. TEA={x:x, 2P TS SILB={x:x 5@ TS
5}, C= {x: x is a multiple of 10} then A (B n C) is | g1, C={x:x10T TS T} d9AN (BN C) fhad
equal to : RER & |
() A 2) B | () A 2) B
3) C (4) {x:xismultiple of 100} | 3) C 4) {x:x 100 T IO © I}

76. The number of integer greater than 6000 that can be I 76. 33,5, 6,7AAT8 B SUINT A FIRTT 6000 I IS quifehi
formed, using the digit 3, 5, 6, 7 and 8 without repitition | &1 w1 | | BRI, IS 3fehT T GARIgRT AT 8
Is: |
(1) 192 ) 120 I (1) 192 ) 120
(3) 72 4) 216 (3) 72 4) 216

77. If all the word (with or without meaning) having five | 77. s 'SMALL' & eI BT YANT BB Uld NeRT dqred
letters, formed using the letters of the word 'SMALL' | BT ST (3FRIYUT JHeFaT 31T IH) Bl WG IDIT B HATTHAR
and arranged as in a dictionary : then the position of the : G WR Teq 'SMALL' BT W14 & |
word SMALL is :

|
(1) 59 ) 52t | (1) 59 ) 52t
(3) 58" (4) 46 I (3) 58" (4) 46

78. IfA, B and C are three sets suchthat AnB=An C : 78. IfE A, B 3R C @19 WH=ad §9 YPR © [d
and AU B =AU C then | ANB=ANC3RAUB=AUCTH
(1) A=B 2) A=C | (1) A=B 2) A=C
3) AnB=9¢ (4) None of these I 3) AnB=9¢ (4) STH 9 Pis T8I

79. The range of a function R defined on N by I 79. N ¥ uH @4 R 39 & ufkwnrfog 2 fw
xRy & x+4y=16is: | x Ry & x + 4y = 16 9 R %1 R 2-

(1) {1.2,3} (2) {1.2,4} | (1) {1.2,3} (2) {1.2,4}
(3) {1.3.,4} (4 {2.3.4} | (3) {1.3.,4} (4 {2.3.4}
|
Space for Rough Work
PCP, Siar  Coss:xiss | IIT-JEE | NEET | OLYMPIADS 15
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80. The valuc of i**? I 80. P WA 3
(1) -1 2) 1 | (1) -1 2) 1
(3) —i 4) i | (3) —i 4) i
81. If2+(2a+5ib)=8+ 10ithen: | 81. afg2+ (2a+35ib)=8 + 10i & T=-
(1) a=2,b=3 () a=3,b=3 | (1) a=2,b=3 () a=3,b=3
(3) a=2,b=2 (4) a=3,b=2 : (3) a=2,b=2 (4) a=3,b=2
82. For real number, the solution of 3x2) < 5(23_ x) Is: : 82. 3(X5_ 2) < 5(23_ x) Fredfan gem & fau 7 3
(1) x<2 Q) x>2 | (1) x<2 Q) x>2
3) x<-2 4) x=-2 I 3) x<-2 4) x=-2
83. If5% =6°P_, thenrisequalto: | 83. ARSI =6°P T T -
(1) r=8 2) r=8,3 | (1) r=8 2) r=8,3
(3)r=5 4) r=3 I (3)r=5 4) r=3
84. If"C,="C, then the value of "C,, is equal : I 84. ?TI%‘{“CQ ="C, ) ?II“C”EI'TI M 3
(1) 8 2 9 | (1) 8 2 9
(3) 17 4) 1 | (3) 17 4) 1
_ I _
85. If f(x) = x? then value of % is I 85. ARf(x)=x’>T @ % M 3
(1) 2.1 (2) 0.21 | (1) 2.1 (2) 0.21
(3) 12 4) 0.12 I 3) 12 4) 0.12
. o 2 T 2. | . o 2 T 2 T
86. The value of sin” —+cos”—~—tan” — is equal : | 86. sin’—+cos’=—tan’ — =1 WA B-
6 3 4 | 6 3 4
1 -1 | 1 -1
() 5 () > | () 5 () >
3 I 3
31 “ 3 | 31 “ 3
87 cos7x +cosSx is equal fo - | 87, cgs7x+c9s5x 3
" sin7x —sin 5x | sin 7x —sin 5x
(1) tanx ) —tanx | (1) tanx ) —tanx
(3) —cotx (4) cotx I (3) —cotx (4) cotx
Space for Rough Work
PCP, Siar  Coss:xiss | IIT-JEE | NEET | OLYMPIADS 16
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88. The solution of x?+2 =0 is - I 88. x>+2=0 TN -
(1) +2 2) —J2i | (1) +2 (2) —J2i
3) J2i @) +2i I 3) J2i @) +2i
89. If6l!+7i!=8§!thenxisequalto: :89. Wﬁ‘{%ﬁ%:%ﬂﬁxaﬂﬂﬁé—
(1) 54 () 64 I (1) 54 (2) 64
(3) 12 (4) 100 : (3) 12 (4) 100
90. The multiplicative inverse of z=2 - 3i1is : | 90. z=2-3i%h TOTAHS Ffaad 2=
(1) 2.2 (2) S I (1) 2.2 (2) S
13 13 13 13 | 13 13 13 13
o 203 w 23 | 2.3 w 23
13 13 13 13 | 13 13 13 13

I
Space for Rough Work
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91.
92.
93.

94.

95.

PRINCE OLYMPIAD EXAMINATION

College : Dean :: Museum : ?
(1) Curator (2) Warden
(3) Custodian (4) Supervisor

72:18::56:7

(1) 63 (2) 66

(3) 22 4) 124

What angle is made by minute hand in 59 sec ?
(1) 6° (2) 5°

(3) 5.9° 4) 49°

On what dates of May 1993 did Sunday fall ?

(1) 1,8,15,22,29

(2) 2.9,16,23,30

(3) 3.10,17,24,31

(4) 4,11,18,25

Some of the cricket players are tennis players, some
tennis players are hockey players, no cricket player is a
hockey player.

Which of the following diagrams correctly represents
the above statements ?

& @
1¢10K1%%

95.

hictsl 1 GUE 1 UBRHE @ ?

(1) S8 %84 (2) wE=
(3) AfRer® (4) FaeTHR
7218 ::56:7

(1) 63 Q) 66

3) 22 4) 124

oSl i i 1 G 51 59 THe H S0 FI0T 1 B ?
(1) 6° () 5°

(3) 5.9° (4) 4.9°

e 1993 1 ToER ®F-%4 G &% i |

(1) 1,8,15,22,29

(2) 2,9,16,23,30

(3) 3,10, 17,2431

(4) 4,11,18,25

&3 3 o | 9w W T T s e %
IIER T Gy gwiien 2|

& @

QD « @

Space for Rough Work
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96.

97.

98.

99.

100.

South and walks the same distance and finally he turns
to his left and walks 7 km. How far and in which
direction is he from the starting point?

(1) 12 km., South-West

(2) 13 km, South-West

(3) 13 km., South-East

(4) 12 km, South-East

R gedi 3 3R M g0 =l 2 3R oid | o8 =it 3
gt 7 foRell. =t 21 3ra o Uiy oy 9 fanan ik
o faem & 27

(1) 12 o, Sfgu-—gfv=m

(2) 13 o, fgu-—ufv=m

(3) 13 foht,, sfeqor-ud

(4) 12 forht,, sfeqor-gd

| www. princeeduhub.com || priNcE oLympiaD ExaMinaTion | o PcP i
2,15, 41,809 | 96. 2.15.41,80.9
(1) 120 @) 121 I (1) 120 @) 121
3) 132 @) 111 | 3) 132 @) 111
If DEER = 12215 and HIGH = 5645, how will you | 97. a5 DEER = 12215 3R HIGH = 5645 ¥, @ HEEL %1
code HEEL ? | HiE F1E ?
(1) 2328 (2) 3449 : (1) 2328 (2) 3449
(3) 4337 (4) 5229 | (3) 4337 (4) 5229
Pointing to Abhay Shilpa said, "His mother's brother is | 98. e 7 3197 1 3R SN FXd gC el ' 'gHFI'" AT
the father of my son Ashish. How is Abhay related to | FH qE W S iy W T 27 et o Rew 9
Shilpa ? | TE FAET |
(1) Sister-in-law (2) Nephew I (1) faet-ga-o () TH
(3) Nicce (4) Aunt | (3) g 4) @iz
How many triangles are there in the given figure ? | 99. 3 & eTHfd ¥ g &1 ¥&a1 @ &L ?
|
|
|
|
|
|
|
|
1 8 @) 9 L ms @) 9
3) 10 (d) 12 | 3) 10 (d) 12
A person walks 5 km, towards East. Then he turns to | 100. T =afsd 5 frl, g8 =t 31X = @ a9 = faor 1
|
|
|
|
|
|
|
|
|
|

Space for Rough Work
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